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ABC 18 a triangle. glﬂ Grve Bule
AB = 8.7 cm. 550 ; : :
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Calculate the area of triangle ABC. /AF)'?/& B:F./;S i3 ‘LZ
Give your answer correct to 3 significant figures.
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220 m

Angle ABC = 47°
Angle ACH = 58°
BC = 220 m

Calculate the arca of tnangle ABC.
Give your answer correct 1o 3 significant figures
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The diagram shows a vertical tower DC on honzontal ground A B¢

ABC 15 a stranght hne.

The angle of elevation of D from A 1s 28
The angle of elevation of D trom 815 34"

AB =25 m.

Calculate the l@ul the tower,—

Giive your answer mnul (e hmulu.ml 1

e

Iy

Diagram NOT
accurately drawn

lin SABD Sl £D, 7@
mmﬁ%mlﬂﬁﬁﬁv

. ABDC
)= Mpc{{l@'w&/ 0’

= _ J1%
9g %/%M%%%



24.

Diagram NOT
accurately drawn
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ABC s a triangle, s Ao T 14 - ©.0S77/
AB = 12m. gg—o
AC = 10m. g M
BC = |Sm, C@Su{ @,@§277,? - g6*57

Calculate the size of angle BAC, — %,7 ol 3 C.\gk» .€>
Gilve your answer correct t@'um;ll place ~ |
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A=3cm—~B
{C = Kcem
{#=3cm
OF = 19¢m

Angle ABC = angle CBD = angle BOE = %)
Angle BDC = 50

27\-&/‘(&' (a) Calculate the lengih of :/1/’_\\

Citve your answer corredt o 3 significan ligures”
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20. Here is a tnangle ABC.
Diagram NOT
A accurately drawn fo 1[l C.
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Drhagram NOT
accurately drawn

In tnangle ABC,

AC = 5¢m
BC = 8em
Angle ACB = 75°.
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(a) Caleulute thm: of trangle ABC

Gitve your answer correct | significant hgure
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(b)y Calculate the length of 48
Give your answer coirect to 3 signuficant figures
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Diagram NOT
accurately drawn

8.3cm

I tnangle PUR,

PO = 10.5 cm,
PR = 83cm
angle QPR = 62°,

(u) Calculate the area of wiangle POR._
Grive your answer wmz)ﬂu/h(l;:m!iuml IIE}\'\
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(b) Calculate the length of OR. = 70 %
Give your answer correct 1o 3 Mymu ant figures,
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POIRS 18 a trapeztum
20 is paralle) to SR
Angle PSR = 9()
Angle PRY = 62
0= 14 em.
PS=8¢m

(0) Work out the length or PR
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CHve your answer corme

(b) Work out the length of OR.
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